
ZSK Stickmaschinen GmbH

Ersatzteilkatalog

Spare Part Catalogue
Catalogo parti di ricambio
Catalogue des pieces détachées
Catálogo de piezas de recambio

Schneideinrichtung
Cutting Device
310 032 900 (Z-002-3759) 

Nr. 5001 (M ) 07.03.2017 - DC310 032 900 (M)



Subject to change!
Änderungen vorbehalten!

© ZSK Stickmaschinen GmbH
Printed in Germany

2017
EKat 5001 (M)



Lieber Kunde,  dear customer,  cher client,

ZSK Order Form

Um Ersatzteilbestellungen schneller bearbeiten zu können, erhalten Sie von uns mit jeder 
Lieferung einen Bestellschein (siehe Rückseite).
Bei Faxbestellungen, verwenden Sie bitte das Formular auf der Rückseite. Die erforderli-
chen Positions- und Artikelnummern finden Sie im Ersatzteilkatalog. 
Wichtig, ist die Angabe der Pos. Nr. und der Artikelnr. in Verbindung mit Maschinentyp und 
Maschinennummer.

ZSK Order Form

So that spare parts can be ordered efficiently, an order form will be enclosed with each 
delivery (see reverse).
When ordering by fax kindly use this form. The corresponding numbers (position, article) 
can be taken from our spare parts catalogues.
It is important to indicate position no. and article no. together with the machine type and 
machine number on each spare part order

ZSK Formulaire de Commande

Pour traiter plus vite les commandes de pièces détachées vous recevrez avec chaque 
livraison une formulaire de commande (voir au verso). 
Nous vous prions d‘ indiquer les numéros de position et d‘ article que vous trouvez dans 
nos catalogues de pièces détachées.
Il est important d‘ indiquer les numéros de position et d‘ article ensemble avec le type de 
machine et numéro de machine.



Serie
Baureihe

Number of heads 
Kopfanzahl

Number of needles 
Nadelanzahl

Embroidery field width
Stickfeldtiefe

Type 
Typ

Serial No. 
Maschinen Nr.

Geben Sie bitte bei jeder Bestellung zuerst Typ und Nr. Ihrer Maschine an, um unnötige 
Rückfragen zu vermeiden. 

Danach bestellen Sie bitte die benötihgten Ersatzteile mit dem folgenden Bestellformular.

When ordering, please  quote your machine type and serial number first, to avoid inquiries 
and delays. 

Then, please order the required spare parts with the following order form.



ZSK Spare Part Order

ZSK Montagetechnik GmbH
Leverkuser Str. 65
D-42897 Remscheid
Germany

 Mr. Lutz Lenzen
Tel: +49 2151 444123
Fax: +49 2151 444223
E-Mail: Lutz.Lenzen@zsk.de

Company:

Name:

Address:

Zip Code:

Town:

Country:

E-Mail:

Phone:

Part Number Description Amount

q  Express Delivery

Note:

Payment Method:

q Credit Card

q Advance Paymenr

q Invoice

For Credit Card Payment:

Card Holder:

Card Number:

Valid until:

Security number:

Orders are based on our general conditions of sale and delivery. Orders below 75€ incure a handling charge of 25€.

Date / Place Signature / Stamp

5001_(M) - EKAT - Schneideinrichtung - 310 032 900 - 07.03.2017 - DC

Type: Serial No.:





NOTES/ NOTIZEN

Table of machine types using assembly group:Cutting device

YCW 0600-1180 SKW (1500)

JCW 0100-500 (700)
JGW 0100-650 (700)

JCZA 0109-550 (700)

SGW 0100-1375 (1000)
SGW 0100-1375 (1200)
SGW 0100-1375 (2000)

SGVA-0109-825 (1000)

YCW 0600-1180 (1500)

YGW 0800-800 (1000)

YGZA  0800-800 (1000)

ZCW 0400-1800 (1500)

ZCW 0800-900D (1500)
ZCW 0800-900D (2000)

ZBW 1100-750 (1200)

ZCZA 0809-900 (1500)

ZCZA 0809-900 (2000)



07.03.2017 - DC

Maschinentyp /Machine type: JCW - JGW - JCZA - SGW - SGVA - YCW - YGW - ZCW - ZBW - ZCZA
Baugruppe / Assembly group: Schneideinrichtung  l  Cutting Device  l  Z-002-3716 / 310 032 900



07.03.2017 - DC

Pos  Bezeichnung Nr. Nr. 2
Pos  Description No. No.2

Pos  Bezeichnung Nr. Nr. 2
Pos  Description No. No.2

Maschinentyp /Machine type: JCW - JGW - JCZA - SGW - SGVA - YCW - YGW - ZCW - ZBW - ZCZA
Baugruppe / Assembly group: Schneideinrichtung  l  Cutting Device  l  Z-002-3716 / 310 032 900  

001 Grundblech ......................................................................................Z-004-0178 310 032 206
002 Linearführung ..................................................................................Z-004-0298  570 668
003 Zyl-Schraube M3X5 ISO 4762 .........................................................A-652-2728 
004 Bodenblech ......................................................................................Z-004-0189 310 032 801
005 Senkschraube M3X6 DIN 966 .........................................................A-623-9812 



07.03.2017 - DC

Maschinentyp /Machine type: JCW - JGW - JCZA - SGW - SGVA - YCW - YGW - ZCW - ZBW - ZCZA
Baugruppe / Assembly group: Schneideinrichtung  l  Cutting Device  l  Z-002-3716 / 310 032 900



07.03.2017 - DC

Pos  Bezeichnung Nr. Nr. 2
Pos  Description No. No.2

Pos  Bezeichnung Nr. Nr. 2
Pos  Description No. No.2

Maschinentyp /Machine type: JCW - JGW - JCZA - SGW - SGVA - YCW - YGW - ZCW - ZBW - ZCZA
Baugruppe / Assembly group: Schneideinrichtung  l  Cutting Device  l  Z-002-3716 / 310 032 900  

001 Scharnier kpl. ...................................................................................Z-008-2383 310 032 912
002 Scheibe B 5,3 DIN 125 ....................................................................Z-000-0356  380 018
003 Senkschraube M5X6 DIN 965 .........................................................A-214-2461 
004 Zyl-Schraube M5x14 ISO 4762 .......................................................A-600-0974 
005 Befestigungswinkel ..........................................................................Z-004-0180 310 032 502
006 Scheibe B 4,3 DIN 125 ....................................................................Z-000-0355  380 016
007 Zyl-Schraube ...................................................................................Z-000-0136  307 011
008 Drosselrückschlagventil M5 .............................................................Z-000-9256  579 809
009 Zylinder D=16mm, Hub=180mm .....................................................Z-000-9306  579 864



07.03.2017 - DC

Maschinentyp /Machine type: JCW - JGW - JCZA - SGW - SGVA - YCW - YGW - ZCW - ZBW - ZCZA
Baugruppe / Assembly group: Schneideinrichtung  l  Cutting Device  l  Z-002-3716 / 310 032 900



07.03.2017 - DC

Pos  Bezeichnung Nr. Nr. 2
Pos  Description No. No.2

Pos  Bezeichnung Nr. Nr. 2
Pos  Description No. No.2

Maschinentyp /Machine type: JCW - JGW - JCZA - SGW - SGVA - YCW - YGW - ZCW - ZBW - ZCZA
Baugruppe / Assembly group: Schneideinrichtung  l  Cutting Device  l  Z-002-3716 / 310 032 900  

001 Halter ...............................................................................................Z-008-0172 310 032 209
002 Greifring G 5 X 0,8 ...........................................................................Z-008-0170  444 051
003 Achse ...............................................................................................Z-008-0171 310 032 210
004 Passscheibe 5x10x0,3xDIN 988 ......................................................Z-000-7746  385 007
005 Scheibe B 5,3 DIN 125 ....................................................................Z-000-0356  380 018
006 Zyl-Schraube M5x14 ISO 4762 .......................................................A-600-0974 
007 Gewindestift M3x6 DIN 913 .............................................................Z-000-6549  356 002
008 Halter ...............................................................................................Z-008-2384 310 032 803
009 Senkschraube M5x6 DIN 965 ..........................................................A-214-2461 



07.03.2017 - DC

Maschinentyp /Machine type: JCW - JGW - JCZA - SGW - SGVA - YCW - YGW - ZCW - ZBW - ZCZA
Baugruppe / Assembly group: Schneideinrichtung  l  Cutting Device  l  Z-002-3716 / 310 032 900



07.03.2017 - DC

Pos  Bezeichnung Nr. Nr. 2
Pos  Description No. No.2

Pos  Bezeichnung Nr. Nr. 2
Pos  Description No. No.2

Maschinentyp /Machine type: JCW - JGW - JCZA - SGW - SGVA - YCW - YGW - ZCW - ZBW - ZCZA
Baugruppe / Assembly group: Schneideinrichtung  l  Cutting Device  l  Z-002-3716 / 310 032 900  

001 Schere kpl. .......................................................................................Z-008-2375 310 032 911



07.03.2017 - DC

Maschinentyp /Machine type: JCW - JGW - JCZA - SGW - SGVA - YCW - YGW - ZCW - ZBW - ZCZA
Baugruppe / Assembly group: Schneideinrichtung  l  Cutting Device  l  Z-002-3716 / 310 032 900



07.03.2017 - DC

Pos  Bezeichnung Nr. Nr. 2
Pos  Description No. No.2

Pos  Bezeichnung Nr. Nr. 2
Pos  Description No. No.2

Maschinentyp /Machine type: JCW - JGW - JCZA - SGW - SGVA - YCW - YGW - ZCW - ZBW - ZCZA
Baugruppe / Assembly group: Schneideinrichtung  l  Cutting Device  l  Z-002-3716 / 310 032 900  

001 6kt-Mutter M4 ISO 4035 ..................................................................Z-000-0379  391 000
002 Anlaufscheibe 8x18x0,5 ZSK 5321 .................................................Z-000-0364  384 018
003 Bohrbuchse A 4x8 DIN 179 .............................................................Z-004-0473 
004 Lasche .............................................................................................Z-000-5588 310 033 233
005 Vorlegscheibe f. M4 Senkschraube .................................................Z-004-0470 
006 Senkschraube M4x16 DIN 7991 ......................................................A-652-1869 
007 Scharnierbolzen KCLSHCF3-6.0 .....................................................Z-004-0292  570 699
008 6kt-Mutter M4x0,35 ähnl. DIN 934 ...................................................Z-008-2376  392 009
009 Anlaufscheibe 4x15x0,5 ZSK 5321 .................................................Z-002-9068  384 008
010 Buchse .............................................................................................Z-008-1723 310 032 211
011 Scherenbolzen .................................................................................Z-008-1919 310 032 212
012 Scherenteil, geschraubt ...................................................................Z-008-2377 310 032 909
013 Scherenteil, geschraubt ...................................................................Z-008-2378 310 032 910







Nr. 5001 (M) 07.03.2017 - DC310 032 900 (M)

Subject to change

© 2017 ZSK Stickmaschinen GmbH
Printed in Germany

ZSK Stickmaschinen GmbH
Magdeburgerstr. 38-40

D-47800 Krefeld
Germany

www.zsk.de

zsk@zsk.de


